BIZA 6 0m RO
[1#H] ( +1.7 m)
10 7711100275 85 B2 — ER80 (2 & - £ £)10. 10
20 6]J1105H # 2% K80 (T H - #F £)10.92
3L 51110847 e %1 —81 (SWi-F-BE)11.72
41 27111300 Kk =
50 41181k B B 83 (S\W-F-#%)15.09
[ 37110041/~ JII  E86 (JI| #k - By £) RiZ

[3#8] (  +2.6 m)

1[0 5] M0OR A [ RT70 (AR HE - #r ) 8. 56

2[ 31120836 H #F 72 (F 3 - F3%£)9.08

3L 4] w71 (SVWr-FE-5E)9. 20
[ 6] 11534FT 55 =C k70 (5 &5 - ¥ £) RiG

187 UK B - 85 E) 1220,

[2#8) (  +1.0 m)

10 471109393 B 3 278 (G & -
- 1 50)9. 23
78 (FE 4 -
- By £)9.97
- ¥y £)10. 51

2[ 6113205785 K
30 3112687 #F
41 711003240 )11 5 K76 U1 1
5[ 5]111096/~ 75 82 5577 (LN

77 (R

B £)9. 21

Fr 1)9. 66

6 [ 2] 1109368H AR FE 2 /78 (S W= E K %) 11. 98
[ 8]Meit = IE75(F M - & £) Rig

[448] ( +1.0 m)

1[ 618062311 & 15 =67 GK ¥k - 7% %) 8. 73
2[ 2711091042 & #E69 5 H - B £)9.13
3[ 51131010/ #&  F£68 (B T - B 50)9. 14
41 ATNNMTRG B B 68 (A1 -+ 23)11) 9. 41

[ 311146+ 45 %69 (8 M - 8 £) ki

[6%H] ( 0.4 m)

10 3]133U7kn A = 62 (B AL - HH #1)8. 78

2[ 118073442 By =2 HH63 (K Ik - 7K 30) 9. 51

3[ 2] 1072011 M5 2% 62 (L & - ¥ )9.56

41 6] 111304 M Fn 760 (F )1l - £ £)9. 80

5[ 7]1115767H B 1E 260 (Il O - £ £)10. 32
[ 4] 1M3MFIAR ) 1135 K61 (R 3L - I 30) Ri5
[ 5]1115865% A 1561 (E 2 - B ) Ri§
[ 811115995 (LI F| 260 (AT iR - # £) Ri5

[848] ( +1.2 m)

10 312661 A+ 55 154 A = - & £)8.07
2[ 6] 14224757 |1y & — B53 (WA )1|- 44 )11) 8. 25
3[ 714864z 8 JA52 (Bl - By £)8.35
A1 81108217 N & 1852 (W% -5%) 8. 48
5[0 411112505 ##  BAG3 (BT IR - # £)8. 51
6 21130956 & fadt —54 (3R 5T - 3 52)8.76
70 5] 159K B 4 BAS3 (S5 £)9. 11

[5%H] ( +0.5 m)

10 6] 140167 I — 566 (Zs)I| - #h2)1]) 842,

20 3]110250¢% & HR 66 (AE &+ - ¥ £)8. 67

3[ 5111108340 {8 B 65 (X =% -#%)9. 00
[ 471111675 1L HE aE66 CN [H - B £) KI5

[7#8]) ( +0.2 m)

10 81140718/ #& #4355 Gzl w2 1523
20 2111995 15 Z& 59 (X% -#57E)8. 05
3[ 51181121 F  #5 H158 (3 7T - K 51) 8. 11
AT 711336314 $0 — 3456 (BT 5C - 3 50) 8. 38
5[ 61132317 % 7 557 (B 5T - # 57)8.39
6 4111136145 | % 58 (% 2 - # £)9.08
T[ 317038285 & 3% 59 (F8 15 - 48 15) 9. 40

[9%H] ( +0.3 m)
10 A0 A 38 451 Gzl -#2)) T3 L
2[ 8113301248 K 72 1549 (BT 5T - H 50 7. 89
3[ 5111156742 B SC 251 (A i - 5 ) 8. 12
AL TINSM A FER50 (S =% -55E) 8. 26
5[ 3]13206%F I 1% 551 (8 5( - # 50)8. 66
6 611116092 M FEf —51 (JI| sk - ¥5 £)9. 26
[ 211311833850 {2 —52 (G 5% + 3 550 RIS

i1 ball

[M50) (M55]

1 U s A 3 451 Wz mz)) [ Ed, 0 110078 /s & #555 )il wZ)il) 1L 70 2
2 13012 AR oK 72 1249 (5T - HU5D) 7. 89 +0. 2 1199 B 1h 28 A59 (817-%-#7%)8.05 +0. 2
3 111266 1Lt 55 754 (A 35 - H £)8.07 +1. 3IBN2 LT #7158 (L 5T - U0 8. 11 +0.2
4 111567 2 BF ST 5251 (AR - 85 £)8. 12 +0. 4133631 45 9 — 3156 (f 5T - 3 57) 8. 38 +0. 2
B 142047 ST 1L B — BB 53 (21l k) 11) 8. 25 +1. 5132031 7 BF 5 57 O 5+ 50 8.39 +0.2
6 111504 Jif A S50 (3107 % -45F) 8. 26 +0. 6 111361 45 1 /% 558 (% J& - 15 ) 9. 08 +0. 2
786 B K52 (3R 1L - £ ) 8.35 +1. 770382 85 A 36159 (1@ B - 18 15 9. 40 +0. 2
8 110821 71 N 35 152 (X1 % 45) 8. 48 +1.

NN WNWN W W



[(M60]

1138247 #r A e BH62 (RO - 3 50) 8. 78 -

2 80734 #2 7 5 563 (K - K 450 9. 51

3 10720 (L g Z= 62 (L& - #F £)9.56 -
4 111304 j H - Fn 60 (i )11 - By £)9.80 -0,
5 111576 7 ¥y 1F 260 (JIl 1 - # £)10.32 -0. 4

[(M70]

0.4
-0.4
0.4
0.4

110135 A TR TRT0 (AR BE - 4 £)8.56 +2.6
2 120836 H A E72(T % - T%)9.08 +2.6
3 MSNAN ¥  #T71(SV%-5%)9.20 +2.6

[M80]

1110927 I B — BR80 (&2 7 - & £)10.10 +1.7
2 11025 2 580 (17 H - & 1) 10. 92
3 10847 In il 42 =81 (X W -#£)11.72
4 MBIk B BRES3 (S -#%)15.09

BF¥B 6 0m REE@#R)

[1#8] (  +1.2 m)

T A5 (5 38 —BR49 (F 3 - T 58) 7.
2[ 21101806k F fH49 (F % - T 3)8.
3[ 61159787 Il 3% —47 GR A5 - 3 70 8.
A1 STNMRSTE AF Fn =247 (KW= % -85 E) 8.
5[ 3]1M1554% 1 — WR49 (X =% -5 E)8.

+1.7
+1.7
+1.7

96
11
30
56
15

[ 5]1113510 B F48 (XWi-F-BE) KI5
[ 71111385)11 | & 247 1] 8 - 55 £) Ri5

(3] (  +1.9 m)

T 4111060 A% HE42 (0B 3 - 85 E) 122
20 7111364 % )11 2% #%40 (3] &5 - 85 £)7.53
3[ 611132058 = K —42 Chr JE - B £) 7. 68
A7 31107594 B Fk44 (I BE - #r £)7.94
5[ 211151505 & 5L 4744 JIl 1 - & %) 8. 97

[ 5]MA0AK & JIE —42 (B &5 - £ £) Ri5F

[ 811506557 B 2 540 G 3L - 3 70) KI5

BB P A

[(M30]
1133783 KB R K30 (B oL - B 50) 7. 48
2 11392 /% 1 34 CRAR - 5 E) 7. 61
3 M8 i W 4R 31 (I 22)11) 7. 82
411652 (L E 33 (S E-H#E) 8. 11
[(M40]

111060 47 B% a2 G 34 - 25 ) 7528

cee e

+1.
2 11364 X )11 2% $H40 (] 85 - B ) 7. 53 +1.
3 132 gk J K 42 CGFr - B ) 7. 68 +1.
4 110799 #= jg Bk44 Q11 BE - By £)7.94 +1.
5 MBI WG A 5L4T44 (11 11 - B £)8.97 +1.9

O O OO

9
9
9
9

[M65)

1140476 1 B — 566 (FZs)Il- #iZs)1)) B 24, *0-
2 110250 % k5 R <66 (RE 45 - 5 £)8. 67 +0.
3 80623 11 #F 12 =67 (K3 - 7K 40 8. 73 +1.
4 111053 40 1 Bt #2565 (S = #55) 9. 00 +0.
5 110910 k2 B 69 (5 - 5 ) 9. 13 +1.
6 1310007 #§  F868 (AL AT - HUA0)9. 14 +1,
T 140411 [ B 68 ()l 42e)1) 9. 41 +1.
[M75]

1110039 7 B 3% 25078 G i - #5 ) 9. 21 +1.
2 190057 &% A BT (A ﬁiﬁ)g. 23 +1.
3MNGH K FHTIS(FEA - 5 ) 9. 66 +1.
4 10032 F8 11 55 J276 (1] 11 - 11@33)9.97 +1,
5 111096 /) F6  E Y77 (B0 - #5 ) 10.51 +1.0
6 110936 $5 AR EE 2 A 78 (S £-5E) 11.98 +1.0
[M85])

111300 K 88 (87T UK 3 - 55 F) g1 7

OO O 1O o1 O

O O O O

[2%#8] ( -0.4 m)
10 711416674k B B A45 Gz )1) laa e xa
21 6] 1108944 ﬁ% 45 (4 1 - iﬂiﬂ 4]
3L 4111189571 #& 546 (B AT - ﬁ)ﬂﬁ 74
A0 2]1ME o 746 (LR - #F £)8.73
[ 3111314 = Fn 5846 (Bk & - £ £) RIS
[ 51108120 &5 B A45 (B & - 5 ) )35

[448] ( 000 m)

10 2111508k 2 == ¥&38 (JI| ik - £ £)7.25
20 1111180/ A JE 4439 (& 2 - £ £)7. 33
3[ 811N HE B K30 (H < - 3 50 7. 48
41 31141960 v FR =35 (41| -#0Z)11) 7. 50
50 4] 13411057 B & 35 (K 5 - 8 5)7.55
6 51111302/N % 141 Hu34 CGRAR LB ) 7. 61
TL 71411858 ¥R 31 ()1 - s Z)1) 7. 82
8[ 61111562111 Hf F&X 33 (W F-5E)8. 11

[(M35]
1 111508 K & 1538 (1] 8 - i‘7£)7 25 0.0
2 111180 % A r?ﬁ\39 (FE-%%E)7.33 0.0
3 141960 | =35 (Il %EF #)D7.50 0.0
4 1340 AT H 8 35 CR A - WA 7.55 0.0
[(M45]

1141667 K 1 B A45 Gzl w28)1) Tadd 7% A
2 110829 1 jE {45 (BB - B8 ) lngd] 04
3 121521 E%%’;‘#EB@(%%-?%W 56 +1.2
4169570 A =46 (BT - #0774 0.4
5120 Ak B 49 (T3 - T 3)8. 11 +1.2
6 111507 %7 JI| - 3% —47 (BT - 50 8.30 +1.2
7 1455 S5 A 2247 (S0 55F) 8. 56 +1.2
8 14N b #5746 (L2 - ¥ £)8.73 0.4

=H)



BFA 100m RE248)

[148] ( +1.8 m)
1[ 8] 1109275 g & — ER80 (&2 = - #y ) 16. 61
2[ 6]111025H #  32 K80 (T H - ¥ £)17.46
3L 71105017 fiE — BE80 JIl 1 - ¥y %) 18. 26
A1 4112067740 (1 e HI81 (- 3% - T #£)18. 76
50 3]110847H0 e %2 —81 (SW=£-#%)19. 11
6 5]111087/)s By 3 &80 (AR BE - #r %) 19.58
[ 2]110041/)~ 1] 786 (JI| # - By £) Rim

[3#8] (  +2.0 m)
10 41110502 4% M 72 8K & - £ ) 15.25
20 5]1M491= [ BE70 O\ [ - £ £)16.03

[548] ( +0.4 m)

10 77140416 1 — K66 (#0241 #2)11) 13. 67

20 2180623)11 #F 18 =67 (Fx 3 + 7x #%) 14. 12

3[ 3111025045 B HR J<66 (8 43 - B £)14.30

A[ 5111092458 A P& k66 (F R - # £)15.93
[ 41116730 (L HE 66 (A M - B £) Ri5
[ 611106340 h  BE B65 (W% B E) RiG

[748] ( +2.0 m)

10 511019 JI| [ 560 (T % - T #£)14. 51

2[ 6] 11304 I Fn 7860 (hf )1l - £ £)15. 71
[ 271115995 111 ] =260 (T iR - B £) Xi5
[ 311211084 H & 60 (T- %E - T 3E) )i
[ 411478 — AW HE 2560 CF JE - Hy £) Ri5

[94H] ( +0.4 m)

10 41140708/ Ak #9565 ()1 - 143)11) 12. 05
20 5]1328654% k2% 7555 (B AL - B 71)12. 63
3[ 3] 110873 K 7o .56 (85 » & - 15 £) 13. 24
A1 211336374 Y& — 5456 (I AL - 3 50 13. 27
50 6] 111306 18 75 255 (FE & - £y £)14. 20

[11#8]) ( +0.5 m)
10 37110059/~ 111 FH (B BH52 (Gr B2 - 85§ £)12. 70
20 612214637 7k W #5652 (LR -4 HE)12. 77
[ 7]11489rp BF K Bh52 (W= F-55E)13. 24
A1 8113003687 | 7 551 (B ¢ - 3 0) 13. 41
5[0 511082147 N 2 62 (W% -8 %) 13. 53
6[ 4]1114865 56 )52 (f 1L - ¥y £)13.63
[ 2] 1420475 111 & — RS 53 (21| - #hZ5)1]) SR 355

[2#8) (  +0.1 m)
10 711088/ )11 & 5176 (1 & - 2 E) 1£:88,
20 6113005785 A W77 G 50 - H 50) 14. 68
3[ 411109397 B 1% 278 (i JiE - ¥ ) 14.76
A[ 3111206F% A+ AH78 (RE 4% - ¥ £)15. 52
5[ 8111003248 Il 75 576 (JI| [1 - ¥ F)16. 49
60 51111096/ 15 52 77 (2540 - ¥ ) 16. 64
70 110610 & IE75 (5 [ - B £)17.50
8 2111093655 A B 2 178 (317 -5 £) 19. 61

[4#8] (  +0.4 m)

10 71311034 » KL F67 Ca F - = F)13.90

20 5111001042 M @k /E69 7 M - BF £)15.20

3L 414411 BF - BI68 (I -#Z3)11) 15. 25
[ 20111497 [fl BE70 (N[ - ¥ £) Ri5
[ 3]1146+ & %69 (I8 - ¥ £) KI5
[eJ1MmE K —67(= 3% - ¥ £) KI5

[6£8] ( +1.3 m)

10 6113347k A FE 62 (B A - 3 #)13. 82

20 311101107 %5 52 64 (Bk fiE - £ £)15.05

3[ 51110720111 M7 28 Be2 (k2 - £ £)15.86

4 411211554 =2 K Zg 563 (T 3 - T %) 16. 05

[8#8] (  +0.7 m)

10 2111955 78 28 A59 (S =% -5%F) 12. 90
20 41181210 F  #7 =158 (B < - 3 50 13.05
3[ 611001 B 4 H57 (B 52 - H 50)13.46
41 51111590 M f&58 (W= -5 %) 13. 81
5[ 3111136145 |1 /% 558 (%% J& - £ £)14.47
[104H]) ( -0.8 m)

10 2] 111266110 55 154 (A &= - B £)13.00
2[ 5] 1336305k B 15 — H53 (B 3T - # 50) 13. 33
3[ 6111125054 #8  BAS3 (AT IR - #F £)14.03
41 4110787 H RS54 (E 2 - B £)14.13
5[0 3111547 7k 1E 7554 (SW-% -5 %) 14. 20
6 [ 850K 1 #7 B3 (SW = F -5 E) 14. 88
T 719064510 B 35 53 (K 3% - 7K 3 15. 77
(1248] (. +2.1  m)

10 2] 41T A 28 K51 ()1 - #0211 11. 60
20 TIIR0124R K 72 1549 (R &L - 3 50 12. 25
3[ 6111159478 A F BR50 (W= -8 %) 12.92
41 47133338/% A 2250 (B 5 - 3 52)13.09
5[ 3]11110507] V6 75 B51 (k2 F - £ £)13.85
[ 5]1113083H F  B&ES0(RWF -8B E) k5



bl

[(M50]
TN e AR 38 051 (F%)
2 1B0124R & 72 1749 OR AT -

|- 7%)

7133338 /& K
8 111489 rp By
[(M60]

1 133247 #42 A
2 120M9 21

5250 (L AT -

5 162 (R -
b <60 (T 2 -
3 10110 7% By 5 Thi64 (8K fE -
4 111304 j& /11 Fn 760 (i 1
5 110720 (L iy #& 62 (R -
6 121155 {42 % K ZRE63 (T E -

(M70]
1110602 5 A5 il SR72 (B P
2 1497 & fd] BET0 CA ] -

(M80]

1110027 feq g 1% — BRSO (F2 =
2 111025 |1 o 5 580 (17 HI -
3 110991 & AiE — BR80 (JII [
4 120677 AU 1l e A8 (- %€ -

6 111087 /1~ H; ¥ %80 (8K 68 - ¥ £)19.

11,
)12,
3 110959 /)~ |11 FH B BA 52 Car i - By £) 12,
4 221463 ph Ak W 3852 (R4 EE) 12,
5 111594 Vi A FL BB50 (S =% - #7E) 12.
6 111266 (L = 75 /54 (K &= - H £)13.
)13,
KBH52 (SWi - #E)13.

H )13
T %) 14.
By £)15.
- By E)15.
By £)15.
T %) 16.

- £ F)15.
B £)16.

- B E)16.
¥ £)17.
- By E)18.
T #)18.
5 110847 i % 42 —81 (X -#%)19.

60 +2.
25 +2.
10 +0.
17 +0.
92 +2.
00 -0.
09 +2.
24 +0.

82 +1.
51 +2.
05 +1.
11 +2.
86 +1.
05 +1.

25 +2.
03 +2.

61 +1.
46 +1.
26 +1.
76 +1.
11 +1.

58 +

BEFB 100m ,J&H#(ME)

[1£#8] ( +1.1 m)

10 2121021 v % — RR49 (T~ 2 -
2[ 61200398°= J5i I w148 (& %7 -
3 81136273 Il & Ja7 (1) g -
41 31111590587 H e —49 OR L -
5[ 1111456 1 22 49 (3 F -
[ 41111351 b

T %)12.19
& B7)13. 42
B E)13.77
W) 14,25
B 1) 14.26
A8 (S W% -5 ) Rig

CcO 0O O 0O O oo

[ 5]80885//7-7/
[ 7113360325 H

(3%8] (  +1.2
10 511416677 1
2[ 4711082944
3[ 1111008275 2
41 8]111568 = {5
5[ 71121008 w0
[ 211109957 32
[ 3] 110812/ B
[ 6] 1116008 A

FUyz/hi48 (R 3k - 7K ) RI5

E/VAC B

m)

Er A45 (%

W) Riz

iz .18
{45 (gt - 5 E) 11285
B IR4T (W g 5E)12. 2
% Bi45 (2 1L - B £)13. 04
AL 245 (T4 - T #)13. 14
I —45 (8] 65 - B £) ®IB
L N45 (B 4 - B F) RIS
5 45 (KW % B ) RIG

WWOoOWo w

(e)

Ra41)

[(M55]
110718 /) Ak #5355 (iR
2 132865 AR = 3555 RO -

JRIRE P

41311211 7 E158 (R At

6 133637 7 Y — 5L56 R AL
7130031 w5 ¥F 25 J557 (R
8 111590 & H
[(M65]

1 140476 /7 FH - — 566 (#1731 Fhs
2 3103 f2 = A3CR67 O F
3 80623 Ik {5 =67 (FK ik -
4 110250 5 5 1L 966 (Rg 45 -
5 110910 £ W X k69 (5 H -
6 141411 [id] 7 5 BH6S (BRIl - 7%
T 10924 A e 66 (s R
[(M75]

1 11028 /5 )11 & =176 (E R -
2 132057 5 A BLTT R A
3 110939 7 By 35 278 CGFr JEE -
4 1MN6 ks A HIS(REA -
5 110082 #4511 75 K76 I 4 -

6 111096 /)~ /5 2 677 (50 -
71600 & & ETS(FH - B E)1T.
8 110936 &5 K FE. 2 /78 (S &+ i*r£>19

(2#8] (  +1.3
1[ 6] 1115059 £¢
2 811334125 A
3[ 71115926 &
A4 11111597387 )11
50 3] 1114553+ #+
6[ 4]114NH

m)

7746 (P 5
15 7246 (B A
% 46 (I 0
e —47 O 5

#ra6 (L2

Z)IN12.
W) 12,
SN s AL (XW-F-HE)12.
- )13,
5 110873 G A va .56 (B8 » B - B E) 13.
- )13,
- )13,
E58 (S -5E)13.

$)I)13.
= F)13.
K30 14.
¥ £)14.
¥ £)15.
311 15.
- £ E) 15.

#%5 ) [R50
- ) 14,
B £)14.
Hr £)15.
Fr £)16.
i%\} %) 16.

05 +0.4
63 +0.4
90 +0.7
05 +0.7
24 +0.4
27 +0.4
46 +0.7
81 +0.7

67 +0.4
90 +0.4
12 +0.4
30 +0.4
20 +0.4
25 +0.4
93 +0.4

68 +0.
16 +0.
52 +0.
49 +0.
64 +0.
50 +0.
61 +0.

- 512,32
- R 12. 44
- By £)12.91
- 50 13.55
AT (SWVWi- -5 E)13. 84
- B %£)13.86

70 51111593 H

[ 2111138511 =5
(4#8] (  +0.1
105111804 +

2[ 8] 1113227 Jit

3 3111076044 jis

41 710K #f
[ 2] 111629 A&
[ 4114205 K
[ 61115853t M

46 (SWi-F B E)14.90
B OH47 I # - By £) Ri5

m)

fli42 R BT - B RO 11,71
K 42 G B - By E)12.28

a4 (1) Bk - By F£)12.52
JI§ —42 (R & - ¥y £)15.93
e H44 Fo e - B B) KR35
2 FA3 (IR} - 23)1]) R35
B 42 (A= - 5 E)Ri5



(5#] (  +0.9
10 6]111364 & )1
2[ 7112094275 &
3L 2] 10831)11 =5
4 511500957 B
5[ 3]805137k H:

m)
% M40 (B & -
fit 540 (T~ % -

HER40 GR T -

[ 8113153y 0 A} &
[748] ( +1.8 m)
10 7]1%I88K A8 B K30 G AT -
20 3111149011 A HE34 (SW-% B E)11. 81
30 411115521
41 8111149385 A
5[ 5112149385 K
60 2] 111514]% Ak

(AR - #0231 R 355

R34 (S E -5 E) 12. 61

70 610V B A 531 R A - 55 E)12.75
s bill

[(M25])

1148 8 A — BE2T (5107 % 55)12.03 +1,

[(M35]

1 111508 Kk &
2 111180 /& A
3 141960 =
4 134110 w7 H
5 111500 B4 48
6 111259 25 H

FE38 (I8 - & £)11.37 +1.
JZ 439 (L2 - 5 £)11.65 +1.
H 235 (NI -HR)ID 11,74 +1.
56 1235 (RUAT - A0 11,87 +1.
HROZ37 OB (L - B £)13.06 +1.
B 237 (LB - 5 )13, 47 +1.

(M45)

1141667 7k 11 B A45 ()il h)1)) 18 +1-
2 11089 &= HE {45 (o B B E) La80 ety
3121521 R —HR49 (T- % - T-%£)12. 19 +1.
411595 7T 7% 1246 (3 50 - 3 50 12.32 +1.
b 132 BE A 75 7246 (50 - B 50) 12,44 +1.
6 110982 v 2 EJR47 (S0 -5F)12.82 +1.
7B % 46 (Il 1 - B E)12.91 +1.
8 111568 = & = Bid5 (e 11 - £5 F)13. 04 +1.

BFA 200m R GH)
(1#] ¢ +1.5 m)

1L 7110238/ )11 & =176 (F )2 - 55 £) 31. 44
20 5J11025H o 5% K80 (T M - ¥y 1) 37. 55
3[ 3]105787% 4 JB5 7683 (i M - by 1) 38. 47
41 41120677 (L O RIS (- %5 - T %%) 40. 39
[ 21110600% 5 3291 (5 M - B £) RiF

[ 611320578 A BA77 OR AL - 3 ) Ri5

11,
7:‘%

1,
REH

B £)12.02
T #£)12. 67
J& E42 (BB -85 15) 12. 86
H50)12.90
HE Ad42 K 3 - K 3580 13. 04
6 47115847 [f] B K BR40 (S\W-%-55E) 14. 28

) 11.59

B33 (SWVW - #E)11. 82
— 27 (8- E-#%E)12.03
R OR32 (F 3 - T 3)12.30

—_ e

2
2

)

—_

N WNWW

(6#8] (  +1.1
10 31111508k &
2[ 2] 11118055 A
3L 6114190
41 71134108 H
5[ 5] 11150038 &
60 4111129958 H

m)
&8 I - By £)11.37
JE #3539 (1 2 - £ £)11.65
FB =35 ()N 11, 74
78 35 R 7 - 7)) 11.87
HE 2237 (B 1l - B £)13. 06
B 237( k2 - B £)13.47

[M30]

1133783 K AE B K30 (L 5T - B 50 11.
2 111490 [ A FE34(XWE-HE)11.
3111552 (L & 33 (S EHE) 1.
4 121493 65 K BEOA32 (-2 - T 38)12.
5 111514 [ie] Ak 31534 (SWE -5 E) 12,
6 111540 70 i f JE31 G 5 - B E) 12,
[(M40]

111304 7 ffid2 R T - 30 11,
2 111364 &2 )11 2% $%40 Gl &5 - #5 £) 12,
3 111322 ji JL Kk 42 GET B - By £) 12,
4 10759 #= P44 (18R - By E) 12,
5 120942 & ¥ fETH40 (T2 - T 38)12.
6 110831 )11 B J& fE42 (R H -5 E) 12,
7 150655 7 5 #c BR40 (R AT - B 50 12,
8 80513 7k H  HEAC42 (K Ik - 2K 90 13.

59 +1.
81 +1.
82 +1.
30 +1.
61 +1.
15 +1.

11 +0.
02 +0.
28 +0.
52 +0.
67 +0.
86 +0.
90 +0.
04 +0.

[2#48] ( +0.3 m)

10 313110344 x K STHK67 (& F - 44 F)28.00

20 6140476 | — 3266 (Fi4s)Il-#hZ3)1)) 28. 06

3[ 4180623)11 #F 18 =67 (Fk 3k - 7x 3%) 29. 24
[ 211105920 46 fH 72 (O 7 - B £) Rim
[ 5]1110534M 4 BE &H65 (SWVW-E-5F) Rig

O 0O O CO OO ©o

1
9
1
1
9
9
9
9



[3%8] ( 0.0 m)

10 6111048278 T 4% 4160 GBr & - ¥ 1) 27. 05

20 2]1337H#8 A 2 BH62 (B 1T - B 17) 28. 93

3[ 3112110842 H St 160 (T~ %E - T %) 30. 73

41 5111394/ 1 Fn #&60 (Ff )11 - ¥ &) 33. 49
[ 4111157675 B 1E 2260 (JIl O - B £) RIB
[ 711115995 1 ] =260 (A iR - B £) X5

ER P Al

(M60]

1 110482 &% T~ #4160 Cor i - 5 £) 27. 05
2 13347k A ZE 62 (R AL - 3 50) 28. 93
3 121108 #2 = St IE60 (T~ % - T %£)30. 73
A 11394 F% - Fn 7860 (f 1 - ¥ ) 33. 49
(M75]

110238 /)11 & =176 ()2 - 55 £)31.44 +1.5

coee e
cocoo

BF¥FB 200m R GH)
[1£#8] ( +0.4 m)

10 51140718/ #k #3565 (Il 2243
2[ 61132865725 4N 2% 7555 (B 5T - o 57) 25. 71
3[ ATMNRRE A 56 (i)l -#Zs)1)) 26. 85
AL 311001 B FF H57 (B 5T - 3 50) 27. 82

[3%8] ( +0.4 m)
1031 A 35 A51 (&)1 24)11) 23. 98
2[ 6113301248 >k 72 1R49 (B 5% - B 50) 25.76
3[ 211320367 | ¥ i&551 R a2 - 38 57) 27. 74
AL 411017 0 #7551 (B2 - BF £)30. 58
[ 55940 A T BR50 (KW 5 F) KI5
[5%H] ( +1.4 m)
10 2] 111146/ B £ #0238 (G A - B £)23.13
2[ SIMMABAR M 2% 9424 (AT iR - £ £)23.86
3L 41141960 Hr #8 2Z35 (&)1 -4 Z)1]) 23. 97
A0 6111149010 A HE34 (W% -#E)24.13
50 5] 134110R7 M £ 135 (B 5 - B 52)24. 35
60 3J1MAY Ak F5 513801 1 - B £)24.72
T 7112149385 A HE K32 (F % - T 4£)24. 82

HR P Al

[(M24-]
1145 A& 289024 (FT IR - 55 £)23.86 +1.4

[(M35]

T/ & AC38 (AR - 5 £)23.13 +1.4
2 14960 FH  HE =35 (#hox)Il-#2x)11) 23. 97 +1. 4
3 134110 Aif - £8 £35 GR 7T+ 3 71)24.35 +1.4
4 N9 Ak F5 523801 1A - By £)24.72 +1. 4

[(M65]

1 31103 2 2 AR ILK67 G F - 5 F)28.00 +0. 3
2 140476 7 - — 566 (Fh73)1-#7%)11) 28. 06 +0. 3
3 80623 I #F {5 =67 (K Ik - 7K 48 29. 24 +0. 3

[(M80]

1111025 I A 5% 580 (17 M - £ %) 37.55 +1.5
2 110578 Jx J - o5 1283 GHE T - By 15) 38. 47 +1.5
3 120677 Ll e R8T (F- 3 - T-%£)40.39 +1.5

[248]) ( +1.0 m)
10 57110059/)~ (11 FH (. BH 52 GBr &+ ¥ T5) 26. 21
20 21111266110 f 5 654 (UK = - B £)27.45
3[ 61108245 N 2 52 (S %55 E) 27. 46
41 3]MBHE A H R4 (SW-E£-%7%)31.88
5[ 4190645111 F 7% —53 (% % - 7K ) 33. 21
[ 7113118335 50 8 —52 (B 3% - H 0) Ri5
[448] ( +0.9 m)
10 271142087 FH fel — BA46 (FF IR - ¥ 1) 24. 74
20 311N A /% 7246 (3L - 3 50) 25. 50
3[ 511083111 |5 J& 1E42 (R H &R -5 £) 26. 80
[ 41111509 A HE Hi44 (Fn )% - £ £) Ri5

[(M30]
1111490 11 A& HE34 (S -5iE)24.13 +1.4
2 1148 g5 A HERS32(T3E - T3£)24.82 +1.4
(M40]
1110831 )11 & JA fE42 (R B - 55 5) 26. 80 +0.9



[(M45]
1 111420 H7 FH 4t — B 46 (BT 3R - 57 ) 24.74 +0.9
2 142 R A % 2746 (R AT - BUT) 25,50 +0. 9

[M55)

1140718/ #& #8355 ()l -l 2843 +0-4
2 130865 2% M 2 755 (R T - HU0)25. 71 +0. 4
3 UNNFE KT BE56 () -4h2)1) 26. 85 +0. 4
4 130031 75 By 97 W57 (R - U 50)27.82 +0.4

BZ 400m R 64

[1%#8]

10 41182 e £ yR75 (N - B +£)1:23.05
2[ 2110578 K M 5 7583 (GE W - ¥y £)1:34.53
30 311108470 e # —81 (XWi=F-B%E)1:57.33

(3#8]

10 41110059/~ 111 F [ECBA 52 Cor 8 - By ) 57. 45
2[ 2190439~ ] 3% E54 (BF A - 5 A) 58. 41
30 51111489 BF K Bh62 (S -5 %) 1:01. 53
AL 6]111488 /5 W Fn H49 (%F J&= - B¢ £)1:10. 06
5[ 3790645111 FH 1% 53 (K 3 - 7K 30 1:17.80

[5#8)

10411304 7 42 (3 57 - 30 50) 248
20 511083111 B J& {F42 GERHEB-# %) 1:03. 90
[ 3110298 Ak JH44 (Fn 6 - £ £) R35
[ 6111111688 F A B41 (1] B - 5 ) KI5
[ 7] 115844 [if] Bf K BR40 (Wi £ -3 E) Ri5

BB P Al

(M30]
1111510 i) H 445 H33 CRAR L - %5 %) 56. 17

[(M40)
11104 7 42 (G o - ﬁmﬂg‘?
2 10831 )11 B JE fF42 (R R -#%)1:03.9

(M50]

11T A 28 K61 (Fzs)l-#izg)11) 23. 98 +0. 4
2 18012 R K 721749 CGROAL - B A0) 25. 76 +0. 4
3 110059 /)~ 111 FHECBA 52 CBT 4 - Br 1) 26. 21 +1.0
4 11266 (L 5 54 (K = - B 1) 27.45 +1.0
5 10821 1 N & 152 (SWE -5 E)27.46 +1.0
6 132036 &7 £ 3% 551 R A - B0 27. 74 +0. 4
7 M0 B #5651 (1R - & £) 30. 58 +0. 4
8 M43E /K 1E 154 (W% -5E)31.88 +1.0

[248]

10 61 1UANFE AT P56 (Kizs)i|-#2)11) 59. 43

20 4110 T A Ar60 CBF JE - 5 ) 1621503,
4 8

3[ 21311034 2 A SCFH67 (- 45 F) 1:04.6
41 511331885, 111 [ KE5T (R 7T - B R0 1 07 82
[ 3111031455 1L 1E{Z65 (A = « # £) KRG

(4#8]

10 6] 1114208 1 e — BA46 (B IR - 5§ 12) 55. 41
2[ T2 A % 7546 (R BT - R 3T) 57. 55
3L 4]200398%= L IF w148 (& ¥ - K %7)1:02. 50
AL 1111098278 2 FiR47 (SW-%-5£)1:03. 02
5[ 5112024 -+ 5% K46 (T % - T %) 1:04. 92
6 81121513 11 % Fn45 (T~ %E - T %) 1:06. 56
TL 2711159087 = f —49 OR 5T - 3 50 1:07. 37

[ 3]111606% ¢ He48 (SR F - By £) Rij

(6#8]

10 31116/ B 8 £038 (A - B B) Y (K% ﬁ)
20 41NNk F5 5138 (I 11 - By )54, 20
30 6JmeleE Jil - 37 (4 i - & £)54. 45
41 6] 1115100 H 44 #l33 (R L - 85 %) 56. 17

[M35]

111146 /8 B 8 4038 (G5 A - #5 ) 2
2 NN /AR F w38 (I - i735>54
368 = JII 437 (A I - B E)54.
[M45]

1 111420 B [ e — 15946 (T 3% - #5 £) 55. 41

2 130412 FE A % 7246 (B 5T - B0 50) 57,55
3 200398 £ L i H148 (% B - K ) 1:02. 50
4 110082 75 J2&  ELIHAT (X0 5%)1:03. 02
511212 4 7 5% K46 (T3 - T 35)1:04. 92
6 121513 F 1 % Fn45 (T % - T %) 1:06. 56
7 111591 357 e —49 G 5C - H50)1:07. 37

29
=F)
20
45



(M50] [(M55]

1 110959 /)~ (L1 FH (B BA 52 (B J8# - £ £) 57. 45 1102 /i A B556 (a1 - #iZ3)1) 59. 43
2 90439 ~F- ] 5z ik 54 (15 A - 45 A) 58. 41 2 133188 & 111 EC 57 R AT - 3 51) 1:07. 82

3 111489 FP B K BH52 (X0 £ %E)1:01. 53
4 111488 &= HE Fn 49 (F = - £ £)1:10. 06
590645 (LI | 5 —53 GR 3L - x4k 1:17. 80

[M60] [M65]
1110082 2% F 4 Ar60 G s - £ ) 1691508, 1 31103 ff 2 A SCF67 (& F - 45 F) 1,94, 68
[M75] [M80)
111118230 B 329675 OA [ - £ £)1:23. 05 1 110578 ) k0 B 7483 GHE 1 - B K)1:34. 53

2 110847 I g 42 —81 (W= -5 %) 1:67. 33

BF 80 0m REEGH)
[148] [248]
10 6111088144 )1 BE 264 (7 IR - £5 £)2:26.90 10 61110612k JIl & #E51 (B 48 - #5 £)2:20. 64
20 41110004 55 68 (s -5 ) 2:38.95 2 47 1336395 BF %% — B 53 (3T 50 - T 50) 2:27. 43
30 31113090 B #2 E76 (|2 - # £) 249,79 3[ 2111885 (L1 [ 4557 (BT AC - 3 50)2:30. 07
A1 7110806 5 FI| 5261 (XU =% -£5%)2:54. 15 [ 5100349/ W 3% 4053 (B A - K5 A) sk rh E4E
50 271100318k F i —81 (#2311 #75)11) 4:17. 98 [ 311306637 % —55 (R & - # 50) RI5

[ 5]1103144 111 1F {565 (A & - ¥ F) &5

[3#H]
10 5113410005 [ 4 =41 G 5 - 5 50) 2099, 57
20 81NN HE # 233 (S % -£F)2:05. 01
30 TSI Il 37 (4 I - B E) 299,96
41 31111601k & 8 B347 ORI - 3R 50) 2:38. 24
5[ 211116064 % 248 (UL 7 - £ £)2:49. 95
6 411706 UE 18 246 (B 4 + £ £)2:52.90
[ 61N/ 4K F5 H138 Il O - £ F) RhEHE

&R 4 Al

[M30] [M35]

1M N FE 5 233 (S0 -%-5%)2:05. 01 TIN5 5 Il 37 (1 ) - 85 ) 225,96

[M40] [M45]

1134100 75 44 =41 GRSt - ) 229,57 111601 K A& i 947 (I 5% - 30 52) 2:38. 24
2 111606 # % 248 (7 - ¥ £)2:49. 95
3170 Ak W 18 22 46 (B 73 - 8§ F)2:52. 90

[M50] [M55]

1 110612 K11 & 651 Gl 43 - B ) 2:20. 64 1133188 /2 (L EL 4857 (B 3¢ - 3 50) 2:30. 07

2 133639 R EF ¥ — KR53 (O I + T ) 2:27. 43

[M60] [M65]

1 110881 4% J11 BE 2264 (AT IR - 5 £)2:26. 90 1111009 B 5 968 (7 - #i £)2:38. 95

2 110806 77 & FIl 5261 (S -4%)2:54. 15

[M75] [M80]

111379 [ 8 7 2276 (1 R - 87 £) 249,79 1 110031 3 [ B —81 (231421 4:17. 98



BF 1500m REQ4)

[148]
10 6] 11088149 )11
2[ 81133188 (L 1E K57 R AL -
30 311110494 35
A7 41109234 2 % Hile4 (| 2
50 711M3Y= iy NE —61 I Bk -
6 [ 51120061/ 5L H k67 (T %E -
T0 111006+ & 271 CKE
8[ 2] 1109061 FH & —69 (8K AE -
[ 9111142855 J/ 856 (T H -
[11]1336634% 5% —55 (CH &L -
(121 1118238 & == 7R 75 CN M -

=g ball

[(M35]

111570 & 4+ K38 (W] BR -

W 2264 (FT IR - £ £)4:56. 25
W H)5:21.69
768 (8 » |- ¥ 1) 5:26. 37
- By £)5:44. 24
¥ 5)5:49. 51
F #£)5:52. 01
- #% £)5:53. 60
B 5)6:32.54
B E) Ri5

W) Rz

B E) Ri5

¥ £)4:45.58

[M50]

1110612 K11 & BES1 (B 43 - 55 5)4:44.76
2 M3 W A 5&Fn51 (B 1l - £ 1) 4:52. 02
[M60]

1110881 4% J11 B 2264 (F7 IR - £5 £)4:56. 25
2 1M339 &= i A —61 (I 8k - 55 %) 5:49. 51
3 120061 & JFL  HH BK67 (T 3 - T %£)5:52. 01

[(M70]
11076 o 2 BT O E -
2 110006 W& = —69 (R fE -

BFZFA 5000m R

1012513 11 P Fna5 (T % - T 3)17:
B E)17:
1711113028 1 #4737 (B R L-#HFE)17T:
:00.14

2[16] 1115705 4= = K38 (7 #% -
A714]1115304 1 S 441 (=45 -
50 711004745 (L {52 U1 -
6 9] 1114269 (L 55 k48 (7 H
T010] 122124 7 % 46 (T %€ -
81311160785 A 43 (8K wE -
9[ 3111158840 FH & 256 (BT IR
10 [12] 13367745 2 WH  1&45 G AT -
110 2] 1MMIN KF ¢ 556 (BE 4 -
12 [15] I319HK0 H HE Z42 U

B £)18

B E) 21

H £)18:
- By £)18:
T %£)18:
B £)19:
- By £)19:
L) 20:
113. 49
- By %) 25:

¥ £)5:53. 60
£)6:32. 54

15.50
25. 40
28. 45

23. 38
26.47
55.33
53.12
54. 36
20. 36

55. 13

[ 1]111485% Js 5856 (1T M - B £) Ri5
[ 411336634 75 —55 CR &L - 50 RiF
[ 5J1080H #F  — 55 (VW% -5E) Ri5
[ 61110501 - 4= 5453 (P 7 - B £) Ri5
[ 811120587 H #k 50 O F - B £) Ri5

e bill
[(M35)
1111510 % 4 &L K38 (B 8% - 4 £)17:25. 40
2 11302 % B &R A737 (B A L5 E)17:28. 45

(248
10 2110612 J11

2[ 8] 11510 4

3L 31317
41 41142289 (L
5L 6] 1M1TE )1

6 7113367714 2 W 1&45 (=
T 511116065
[ 11094748 (L fd52 U1

[(M45]

111422 %9 111 58 k48 (5
= K48 (R HHB-®$)5:14.74
3 133677 He .z i 1&45 OR At

2 173§ )11

= HESL (B 4 - By £)4:44.76
HHOR38 (5l B2 - £ E)4:45.58
51 (ke 1l - B £)4:52. 02
B k48 (7 H - £ £)5:04. 51
£ K48 (R HE-H1£)5:14.74

- ) 5:20.90
P48 (¢ /= - B £)5:38.89
- B B) Ri5

- B 1) 5:04. 51

- 1) 5:20. 90

4 111606 % 3 Bw48 (B 7 - By 1) 5:38. 89
(M55]
1133188 & (L [E 457 R AU - R pt)5:21. 69
(M65]
111049 4 & 4468 (B~ 5 - 55 £) 5:26. 37
2 110923 4 2 #He4 (12 - By £)5:44.24

(M40]
1 111530 4 'R

A4 (Z 45 -
2 1M507T &% K 2943 (AR HE -
3 11319 A H HE 242 U -

i %£)18:00. 14
¥ £)19:53.12
¥ £)25:55.13



[(M45]

TI2518 | B e Fn4s (T % -
2 1M42 8 111 B8 ka8 (5 |
31N 4 J F46 (T3 -
4 133677 oz W B4 R -
[(M55]

1111588 1 FH - 28 .2 56 (T iR -
2 1541 PO A 2 13656 (FE 45 -

T %#£)17:15.50
- B3 £)18:26. 47
T %£)18:55. 33
H50)20:20. 36

i £)19:54. 36
B £)21:13. 49

BFZFB 5000m R

11111152288 & 22 HH61 (KW= F-#F)18:46.54

2[ 81110849 ji%&
3121 1339 ey
AL 47076 = 71 (OK &
5[ 5] 110047 £% 5 HET1 (8K 6E
6 771209618 Jit
70 31110641 & [l
8[ 6]110906mE FH

i 264 (I B

B RI75 (M (L
69 (fix BE

9[ 1]1102945E K 18 K87 (BT N -
[ 2] 11318 Fn 78 (I 8k -
[ 9111088144 JII  BE 2264 (FF IR -
[10] 1101504 IR 1E =262 (J1] Bk -

ER P4 A1l

[M60]

11152 8 &
2 110849 Py i
3 111339 ‘&7 175
[M70)
TI01076 7 B BT ORE -
2 110047 4o £ 5 BET1 (R E
[(M85)

1110294 BE A 78 <87 (AT IR -

Hze4 (L2 -
JIE —61 (1] -

W #k67 (T %E -
- B £)23:45. 06
- B £)24:06. 78

- ¥y £)20:36. 24
JIE —61 (1] # -
- B £)21:59.18
- ¥ £)22:20.76

# £)20:57. 06

T %£)22:48. 60

£ %)28:35. 52
B ) Ri5
B ) Ri5
B &) Ri5

ZEWI61 (W% 45%)18:46. 54
By £)20:36. 24
£} £)20:57. 06

By £)21:59. 18
By £)22:20.76

By £)28:35. 52

BF 3000mW REE

TL10] 113802 16 i —44 (S %8 F) 1359900

20 71902247 )1l #Hr54 (B A -
3[ 918054775 fik  BrAT44 (K H% -
A7 5]20094°K Fn 458 (= B -
S5 4] 14128 H Hi 66 (& &5

6[ 8111133k {L ”ﬁ fetas (Bx 7= -

TL11]133162)m {2 Hij42 R L -
8[ 3113219642 M & 70 (R 2L -
- £ F)24:45. 67
JIIRE: P

9[ 2]1MM0E. / A 5L =75 (B &
10[ 1]1100312k FH i —81 (fh 4

15 A<) 16:05. 40
K Y)17:46.75
& ¥7)17:58. 83

- By £)18:35. 30

¥ ) 18:40. 85
T 50)20:50. 38
) 23:38. 66

3)11)26:42. 45
) Ri5

59 15
B K&
mi)ajz)ﬂ 46. 75
B 51)20:50. 38

15 A)16:05. 40

[ 6] 1336604 A 458 (L L -
ER P Al
[M40]
TI83E B i —44 (S0 % -8E) 130
2 80547 75 g BrAT44 (K 3 -
3 133162 m A 22 Hij42 (B AL -
[M50]
190224 % JIl 754 (B A -
[M65]

1 142 B2 = 5 266 (B8 &

- ¥ £)18:35. 30

(M50]

1 10047 k2 (i {52 (/1] - & ) 18:23. 38

[(M65]
1 120961 & B Fh BK67 (T % - T %) 22:48. 60
2 110006 W FH = —69 (8K 6E - % 1) 24:06. 78

(M75]
1 110641 4 [l 3 U175 (5 11 - S5 ) 23:45. 06

(M45]
1 111363 UL (E 48145 (M 7 - B ) 18:40. 85
[(M55]
1200944 % Fn f#68 (= B - ) ) 17:58. 83
[(M70]

1132196 f2 FH 50170 (RO AL - BRAT) 23:38. 66



(M75]
1110430 £/ 54 w175 (B 4 - &5 ) 24:45. 67

BF ESB R

[(M80]

1 110031 2k& FH e —81 (#5111~ #473)11) 26 : 42. 45

[M25]
TL12] 111493 85 K — BE2T (W% E) 1m6b (RH. X&)
[M40]
10117120942 /& 48 fdE 7540 (73 - T %) 1mb0
[M45]
1010]133873 45 M #1147 (B 7 - B 71) 1m60
[M55]
10 81132363 4= )11 % 58 (B AT - B #T) 1mbb
[ 71121450 &} Lb 2 S AK58 (F 2E - T 5E) K5

[ 9180545 7% [ v BE56 (7K 4% - 2K 4%) Ri5
[M60]

10 5]1168 B 11 6L (SWF-%E) 1m20

[ 61120719 B 1| F& 5260 (T %E - T %) &K%
[M70]

[ 47110051 =
[M75])
1031120198 FE A HI8(T - T3) 1m2b
[M80]
1L 2]110575 #2 g T 282 ( L 2 - B E) Om95
[M90]

T 0TS ik S #R95 (S E -5 E)
BF #Eak R
[M40]

10 61110863 1= % K#7.2 8140 (B 4 - £ F)
(M45)

T R (A& W) R5
(R&521)
(R&5241)

Om85 (BAH)

4m00 (8%

1[ 5190552 %k &
[M55]

1[ 41120447 /) 22
[(M65]

1[ 21120049 45 A
1[ 3790015 4% &
3 11121695 FH

JE 748 (15 A -
il HB56 (T 2 -
B9 (T I -

Fn 68 (K5 A -
U BR67 (T BE -

BF LAk R

[M30]
1[30] 141118 &
2 [29] 111552 L1 rfr
[M40]
1[28] 120942 & 4
2 [26] 110800 # W&
3 [25] 11194 ] %2
4 277150655 {h BF
[24] 80547 75
[M45]
1[21] 111067 € &
2 (22111159 7T £
31207110648 &= 38
41237110982 75 2
[M50]

i &) 3m60

T 3) 3m20
2m50
2m50
2m30

T3
i A
T3

P31 (&)1 -2 )11) 14m16
33 (802 E - BE) 13m83

fadt 7540 (T 2 -
42 (B A -
fidt 144 (hn 24 -
HCER40 (R T
B 4744 (K 3 -

T ) 12m87
i &) 12m32
Br £) 12m22
R0 11m67
KK Riz

B 2246 (& LR - B £) 13mb2

1546 (AT -
AT (N & -

R A0) 12m92
B £) 12m67

H1B47 (8W-F 5% E) 12m41

1 [19] 110961 jigk A< 2 — BB 50 (/1N )11 - £ £) 11m10

(R&24)

(R&#)
(R=#)

(R#)

(KR&5EH)



2 [18]111566 = #F 5 1/53 (A2 (R - BF £) 10m67
[M55]

10141140388 F A 2 HEST (F4)1-#4)1) 14m29
2 (121141566 4 v B 3259 ()1 #023)11) 13md4
3 [13] 121450 5 bt 245 SRk 58 (T HE - T %) 13m13
4 [16] 110873 F2 A vo 1,56 (S » B+ ¥ ) 11m80

(151111590 fi& HH

(17180545 7 if] 5o HE56 (7% 9% -

[(M60]

1L10] 10712 ¢85 K A —62 (B 45 -
52 64 () HE -

2 [ 9110110 % B¢

E58 (SW-5E) RiB

KR R35

B £) 11m89
Bt ) 11m4b

[11] 111478 — AW E2E60 (BT & - £ E) RS
[M65])
10 71131000 i #6  #868 (BT 5T + BT 5T) 10m57
[ 811MM1 &2 & 1566 (k1L - £ £) RiF
[M70]
1[ 61120836 3 A 72 (F % - T %) 11m78
[M75])
1[ 51110939 7 BF 3% 278 (3 JE - £ E) 10m26
[M80]
10311419/ B RS0 (A E - B 1) 9m94
2[ 41110120 14 i 5= 980 (H /& - BF E) 9m06

B ) 8m32
B E) Ri5

3[ 2] 110575 {2 i ot =82 (R 2 -
[ 17110254 B 0 5t —BR83 (3 T+ -

B¥ EMRE R
[M35]
1 [25] 111500 £ 4
[M40]
10231111194 [if] %
2 [247 111515 g A
[M45]
1 [19] 110965 ;&
2 [22] 111600 B A
3[18] 111554 7
(201111314 £ F
[21]111067 & &
[M50]
1TL13]11250 & ¥&  BAG3 (Fr iR - #F &) 4m80
2 [15]111159 K - #EAG3 (S E-HE) 4m26
3[16] 110961 ek At —HE50 (/N 1] - #5 F) 3m98
AT14]111566 — 4 J5 1H53 (R - & &) 3m87
(171111308 = F P50 (SWEFHE) RiF
[M55]
101211812 (b T
211170382 &5 K
[M60]
107110772 g5 R i —62 (B 45 -
2 (101111478 —AH R 3260 (H7 2 -
3L 9J11586 52 A TH61 (L2 -
[ 87113432 FAR )14 K61 (B AT -
[M65]
10 6]110079 K JII %EF]65 (W= % -5 E) 4m1b
2[ 51140045 (L1 {2 68 (FZ)I-#%3)1)) 3m88

MROZ3T (B [l - B =) 5m29

ft it a4 Ohn 24 - 5m29

sh1744 011 A -

5 E)
% E)
B #4718 - By E) 5m26
& 45 (2= HE) 4m43
— IR49 (W= F-5HE) 4m07
nE46 (B A - 5 F) Rig
B 246 (8 LR-BE) Ri5

5m08
3m78

7 758 (B i -
7 b9 (18 & -

H )
1 5)
B ) 4mT1
B £) 3m87
B £) 3m21
H ) Ri5

4m07 -

(R&#)

(R#H. K<H)



[M70]

10 41120836 H AF  HB72(F 3 - T 5) 4mdd
[ 31121046 ‘A i IERET2 (T3 - T %) Ri5

[M80]
[ 17110254 B 0 oc —ER83 (3 F - & k) K15
[ 2]120677 S 1l e A8 (F 3E - T %E) KR35

BF ZEEk R
[M35])
1[18] 111613 Ak ffi 35 (P B - #r £) 13m66 +2. 4 225213m43 +1. 1
[M40]
10171110800 & wg 242 (B4 - # E) 9m06 +0.8
[M45]
10137110648 2356 5 4547 ()11 & - 5 ) 11m09 +1.8
2 (147110065 &5 M B AsH47 (I A - B E) 11m02 +0. 6
(15111067 & & H 246 (F LR E) X5
(161111568 = & 3= Fi45 (B 1L - B E) K15
[M50]
1 [12] 110961 5k A e — BR50 (/N 1] - #5 E) 8m73 +1. 1
(117111566 = &F F5 7553 (I (R - £ E) KI5
[M55])
1[0 91140388 5 A = FFHT (#2311 4#23)11) 12m13 +0. 2
2 [ 81121450 &1 b ZS Y AK58 (T HE - T- %) 10m73 +1. 3
3[ 71141566 4% + B 3E59 (W41 -#Z)1) 10m37 +1.6
(10180545 7% [ 7 HE56 (76 3k - 7% %) KI5
[M60]
[ 61110134t 15 1E #2064 (A BE - ¥F T) K15
[M65]
1[0 51131000 B #8 #6688 (BT L - B 5T) 8m79 +1.2
2[ 41140045 Hr Ly {2 568 (M) -#h2s)I) 8mO8 -0. 3
[M70]
1 31121045 43 J/ 1F k72 (73 - T %) 8mb0 -0.3
[M75])
1[0 21110078 i i A PET7T (3K 7 - £ ) 8m60 +0. 4
[M80]
10111419 /N B fEE80 (A = - # E) Tm18 0.0

B+ mAR[3. Okgl REs

[M80]

104111300 2 i #2821 Bk - # E) Tm05

2[ 31111287 7k &5 BriES3 (S\WiF-#E) 6md6

[M85]

10201120171 22 )11 Mk &85 (T 3 - T 3E) 6m21 (RE&#)
[M95]

10 1J1H0715 1 B I5 (S - F55E) 3m9b (KR=iEHR)

B+ maiix(4. Okgl REs

[(M70]

10 3]110106 g5 A MR AL73 (SWWo k-5 E) 10m34
[ 47110001 f= 47 K72 (A & - B £) Rz

[(M75]

1L 11110883 /NI FE B&78 (4% - By £)  6mb1

2[ 2110292 &% JIl  B77(SWiz%-Hik) 5mbd

0.9

+



B+ R[5 Okgl R

[M60]

10 5]MNT 4+ ZFHEe4(SWi-F-HE) 8m24
20 61113 A W5 =64 (SW=F - #E) Tm76
[M65]

10 11130122 4 H EE1E69 (BT ik - ¥y &) 9m89
20 2111145 hn g = 1gE67 (FhZs)I|-#0Z5)1)  9m29
3[ 4110063 22 R —65(JI O« ¥ E) Tm23
A 31110397 & WM 22 267 (4@ )11 - £ E) 6m95

BF faiixll. 260kg] R

[(M45]
1L 2JM297T e 1 & 5445 (& L& - 5F %) 12m43
[ 11133603 2H H & 7247 ORI - 350 Ri5

B Nno7v—%[3.0kg] R

(M80]

10 27111404 & 0+ E =82 (4F )1 - By ) 26m41

(M90]

10 11110009 o) (Fs 5291 (F M - B E) 12m63 (K&2 1)

BF N —#%[4 0kg] R

[M70]

1[ 3]140666 &= 3 370 (#&)I-#4)1) 3Tm82 (R&#)
2 [ 51111156 B Ify 55 ME70 (= 45 - ¥ &) 36m66 (R=#)
3 4190209 35 #h [ E70 (SW-F -5 E) 2Tmd4

4 21120769 A T BE7L(F3E - T %) 23m49

5[ 11121066 A /&5 173 (F- 2 - F %£) 19m14

B¥ N7 —%[5.0kg]l R
[M60)

1[ 21110364 A H = BH62 (AT IR - B &) 43m88
2 37140878 JI1 [ Y61 (#&)1-#2: 1) 40m99
[M65)

10 1] &2 & %66 (B 1L - B E) 25m16

BF /\ov—i%[6.0kg] R
(M50]
10 41200992 H: R Fn 251 (& B - £ BF) 46m25
2 31130956 =48 fAt —54 (B 7T - B 50) 19m92
(M55]
10 21110702 32 ¥/ Ak 2£55 (B0 - £ ) 40m38
[ 1]111533 Al 1 7E 1756 (A FE - B K) s28%% L

BF /N —&xl[] 260kg] R
(W45]
10 L0001 e A 447 i 11 - 55 ) 30143

BF MR Okg] R
[M60]

10217140878 )11 0 ¥961 (eI -4 Z)1) 3Tm57
2 [18]1110507 A F 7% K63 (8K #E - B E) 34m12
3 [19]1121155 f&£ = KZ&E63 (T & - T ) 28m22
4720] 110172 85 K fi —62 (B & - B £) 25m12
S5L17JM2AT 4 1 Z=HE64 (J W= F -5 E) 14m4b



[M65]
TL120 111145 n i = 14E67 (231l #0Z)11) 36m60
(157110867 37 H  BH 7566 (EL 0 - £ £) 32mb0
2101130722 4 H HE1E69 (T iR - 53 E) 31m33
3[14] 111481 k2 &8 %66 (B (L - £ E) 24m70
A[13]110397 & W 22 267 (4@ )11 - £ E) 19m90
5[16] 110083 £2 % B —65(JIl @ - £ &) 19mb5
(117110468 ) BF 44 HB68 (S - % - E) K15
[M70]
10 9111156 B iy 75 1E70 (= 4% - 8§ ) 30m71
20 51110105 85 A R R73 (W= -5E) 29m89
3 [ 8190209 %5 FT0 (W2 F - HE) 24m23
A4 7110769 A L BETL (FHE - F %) 22m22
[ 6]110051 5= 7 R72(A & - & £) X5

[(M75]
1L 4111284 B & B ER77 (B A - 45 K) 20m29
[M80]
1[ 31111404 3E A +1E =82 (4 )1 - F £) 20m49
[M85]
1L 2]1200710 22 )11 B 7585 (T %£ - T %) 13m37
[(M90]

10 1]110009 B w&x 5291 (F M - & £) 9m33

BF MR, 5kl R
(W50]

10 20147 30 #3450 (4L A< - 5 ) 21n5
20 111200 & 7 2 1E51 (BB - B %) 14mb7

BF ABKI[2 Okgl R
(M25]
1041111498 5 K — BE2T (S /2% -5 ) 22m26
[ BTTITIG B By 127 (B 4% - 55 ) 1B
(W45]
[ 2] 11087 L F S 45 (FH R 57F) 3251
10 D108 b 447 (4 1 - 57 ) 28031

BF ©UEK[400g] R

[M80]

10 3]10075 2 B T E82 (L J& - £ E) 15m32
2[ 21111287 7k &5 BriES3 (S\Wi=F-#%E) 11m08
[M90]

[ 0TS R Y 95 (W% -5 F) Ri5

BF ©UK[00g] RA

[(M70]

10 41121066 ff & 73 (T % - T 2%) 31m64
2[ 5]110400 % 55 FEIR70 (L 2 - & E) 17m23
[(M75]

10 27140099 22 J11 - 3% 77 ()1 - #073)11) 21m88
2 [ 11110883 /1 JIl - FFA78 (B 4 - B E) 17Tm63
3 3Jmo2s2 f% NIl HBT7 (S E-£iE) 15m15

BFd ©YK[600g] R

[(M60]
1L 3110507 A & 5% #63 (£ #E - ¥ %) 31m83
20 21111008 = 4 W5 264 (S5 E) 25m36

oP

(R=#)
(K%

(KR=ECER)

oP



[M65]
[ 17110468 K B #1 ER6S (S W= F -5 E) KI5

BFZ2 ©OYHE[100g] R
[M50]

10 11130956 = 4% it —54 (3 AT - 3 5T) 33m75
20 3] MaThn 1550 (Ab A - # ) 33m19
3L 2 & 0 #2551 (k2 - 8 E) 23m50

BF ©UY[800g] RAEF

[(M25]

[ 61111166 = & = ak27 (B4 - B 1) Ri5
[(M40]
1[ 51111464 RAARF5 240 (FE 4 - B T5) 31m85
(M45]

1L 1]121621 2 B — B 49 (T %2 - T %) 44m03
20 3INSTT A )1 A —47 (B 43 - &5 &) 35m37
L2l 1mT &)1 22 k48 (& H#B - ¥ £) 33m83

[ AT11547 /&5 4 B 9845 (UL - ) Ri5

ZFB 6 0m REE(24H)
[148] ( +1.9 m)

10 51803287 M [E 3554 (K 4% - 7 390 820,
20 TII09627 2 B 2652 ()il ) 1)) 8. 54
30 811219558 W 552 (T2 - T-32)9.28
A 6] 1400342 1 % < 7253 (Il #Z)11) 9. 53
5[ 41 1MI3FE &% i 5255 (21 5L £ 5) 10. 04
6 2] 1201083 BF % 777 (T3 - T 28)11. 74
70 3110057 3 H 772 (T % - T %) 12. 34

=i bzl

[(W30]

111106 7k % 75 &k32 (M8 B4 - #5 £)8.43 0.0
2 UNB D B A (IVEE-HE)8.55 0.0
3NBITH  Fn FE30(EA - ¥ £)9.40 0.0
(W40)

1 18T NEFONE A4 (B - B £)9.75 0.0
[W50)

180323 57 H A 3554 (3K ¥k - 7% 4 8 2L+

2 140962 /2 B 3252 (M)l -#04)11) 8. 54 +1.9
3L B JRB2(T - T-3)9.28 +1.9
4 141003 %2 H 6D < Fx53 (FhZs)I-#0Z5)11)9. 53 +1.9
[W70]

1120995 47 8 fE 772 (T3 - T36)12.34 +1.9

ZFB 100m R Q%)
[14#8]) ( +2.2 m)

10 5] A Fn 455 (O 4 - # £)15. 21
20 4113332718 Iy M ELSCRE A - B 71)16.35
3[ 211207087 B %% 777 (F % - T ) 19. 30
47 311209954 3 fH F72 (T # - T 28)20. 32

[248] ( 0.0 m)

10 7II1063 7% 75 k32 (V8 B4 - 55 £)8.43
2 51160651 1 55 p1 75 37 (7 18 - 37 18) 844,
3[ 6] UBRIE D F FH33 (S -%-#E)8. 55
A[ 3114165642 J 0 £t45 ()il #2)1) 9. 12
5[ 2] 111440 B 25 Fna8 (A [ - 8 ) Jad®
60 8IMIBITH &0 9230 (b A - #5 £)9. 40
70 A1 TSN 200 b 244 (BR 45 - #5 £)9.75

[W35]
1 160651 -7 F 7137 (7 8 - %7 18) 8,44, 0.0

[W45)
1 141656 2 0 £445 (RZ)Il- 250 9. 12 0.0
2 111494 1 05 25 Fnd8 (AR - #5 ) udd 0.0
[W55]
1 11963 B % 1 9255 (&5 L 5. #5) 10,04 +1.9

[(W75]
1120108 7% B 77 (T3 - T3)11.74 +1.9

[2#48] (  +3.0 m)

1[0 2]80323% M B 3554 (FK Ik - 7K 3%) 13. 12
2[ 81160651 k= B p1 2 F1137 CGBT 3 - 587 1) 13. 29
3[ 3]1400621F B2 W& 2E52 (W21 - #023)11) 13,70
41 4112149558 MW JR52 (F 3E - T %) 14. 61
5[ 511106425 M X L A50 (M3 (L - B £)14.70
6[ 61111494 B £ Fn48 (AN [H - #F £)14.75
T0 718 UNEFONE 244 (B4 - By £)15.35



=R F Al
[W35)
1160651 - 85 41 75 FIS7 G738 - 97 18) 13. 29
[W45)
1111484 o BF 3 48 O\ - 55 ) 14,75

+

3.0

+

3.0

[(W55]
1111101 | AS A0 4R55 (P A4 - & £)15.21 +2.2
2 133321 & 1l #h FE55 (AT - B 50) 16. 35 +2.2
[(W75]
1120708 7% B F+-77 (T 3 - T 39 19.30 +2.2

ZFB 200m R

( -0.4 m)
10 71160651 | B o 75 1137 GBT 8 - %7 18) 28,99

20 4110 A F0 455 G 4 « 8 5) 35" e

3[ 318071535 Mk 32 #8565 (Zk k- 7K k) 33. 55

[ 5114100342 H @ < Zx53 (FZs)1] - 4023 )11) R 315
[ 6114006270 B2 I 2E52 (BRI A1) Ri5
&R P4 Al
(W35)

1 160651 1127 F 751137 (7 8 - 7 153) 28,99 0. 4

EF 400m RE

10 41133271 1L F 765 (R 50 - o 50) 1:29,46
2 5180TISIE IE 3 M55 (K Bk - 7% Bk) 1:22. 07
30 37137193 F =% 756 (3 2t - 3 £0)1:23. 30

ZF 800m RE

[ 41113067K 71 #6 3£ F-60 (& 1 #1- 5 E) Ri5
[ 51133719 & H A +-56 O 5L+ 3 50) Ri5

ZF 1500m R

10 511116080 1= 227 (1 & - #5 %) 2:99,62

20 41121406%2 1 22 F47 (T % - T %£)5:19. 91

3[ 3111109435 A&k W] 2549 (5 - ¥ £)6:17. 83

A7 271113057k 1+ 26 760 R H - 87 E) 6:42. 48
[ LJ1073% A ) KR 75 (T- 3 - T 38) &5

BB P Al

[W25]
1111608 2 i (= 227 (1= /2 - #5 1) 509, 62

(W60
1111305 7K 7 #£i3 7-60 (3= B #8- 1o &) 6:42. 48

ZFB 5000m ;’9&11%

10 211116080 i 1 2227 (1 J2 - #5 ) 18347 2
20 1]12M06% B 2 AT (T %5 - %%ﬂﬁ 24 ©
= bl

[W25]

1111608 4 B 1= 2527 (1 )2 - 15 ) 18347 27

[(W40]
1 111587
(W50]
180323 = W 1H. 3654 (K I - K ) 13.12 +3.0
2 140962 0 P2 I 252 (#73)1-#07%)1) 13.70 +3.0
314 Le | SR62(T 3 - T 3)14.61 +3.0
4 110642 55 HH 32 L 2+50 (W5 111 - Bp 1) 14.70 +3.0
[(W70]

1120006 47 & 1H 72 (F % - T %£)20. 32 +2.2

INEFSFOE A 44 (B4 - 7 ) 15.35 +3.0

[W55)
111100 B AT 455 (I 26 - 85 5) 345959 4
2 80715 1 WG 25 155 (K bk - 7 k) 33. 55 0. 4

(W45]
1121406 22 |1 52 F47 (T3 - T 39 5:19. 91
2 111004 7 7k B 3649 (B 7 - By 1) 6:17. 83

[W45)
112006 %2 |1 25 a7 (T3 - T %) [ 8149 66



ZF 3000mW R

[ 111200348 A #) 4575 (F 3 - F 3E) Ri5
[ 2] 13156725 BB o8 769 (SW-E -8 E) Rig

¥ ESBk R

[W45]

1[0 2790493 th & T #4247 (A [ - By E) 1m36
[W50]

1[0 11141003 #2 1 b < 253 (# )1 -#=)1)  1m21

ZF IRk R

[W45)

102190493 KE 4247 (14 7 - 55 ) 1108

[W55)

10 LM B 55 (S0EE-5T) 1m0 (REER ARER)

XF EfEBk REE

(W45)

1[ 2190493 /A T #247 (A [ - # £) 4m64 +0.5
[ 31111603 85 AR ONA AHAT (BN - £ E) KI5

(W75])

10 17110260 # = ByL78( L2 - # E) 2m33 -0.2

TF =ik REs
[(W55]
TN I8 755 (SL2-45F) 851 0.0 (R%F. AR

¥ A [3. Okg] Rp%
(W60]
10 21110754 B AF  5C 760 (SW0-£-%E) 6m86 (K&
(W65]
[ 1111214 F8 S 8 168 (Fn Ot - B3 E) Ri%

TF /N7 —1#%[3. Okg]l R

[W50]

10 31111403 w6 A I 52 (L2 - 5§ E) 19m24

[W60]

10 2110754 B A 5C 160 (ZWW =% B E) 24m22 (RH. K<)
[W65]

10 1JMN4 8 8 68 (Fn ot - £ E) 22m39 (R%

TF NI —K%[4. Okg] RBE

(W45]
1L 1] 141656 A2 i Fn A45 (Rl - #2%)11) 20mb4 (R&#)

ZF R [1. Okg] R

[(W50]

10 2] 111403 75 K 5 3252 (L 2 - £ ) 20m60

[(W65]

T0MNMAR S 5 768 (RO - 55 ) 15067 (K&H0)

ZF PYFK[600g] R

[W30]

10201178 21 %230 (db A - 8 E) 29m17 (K&
(W45)

10 17141656 #A 7 i AR45 (FhZ3)1[-#hZ3)11) 22m82

&

- K2#)



